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345 |1bE5 $ | 53 |ER# |®NWH | F2DI-T
346|8E E— 5 | 53 |BXE |SHm F20IT—T
347|5H BX % | 63 [#BX)II8 |#Emh F20IT—T
348K R&E 5 | 54 | KR | KRB F20IT—T
349|Z8 I[E& E | 54 [BX)II8|EEh F20IT—T
350|BFH 5 | 54 | KR | RBRM F20IT—T
351 |WHK £5 5 | 54 |BXE  |FEh F20IT—T
352 |F[E #is E |54 |EEE |ERE F20IT—T
353 |BE A5 % |54 |FZRE |&2h F20IT—T
354 |98 EF 5 | 54 [ KRfE_|S%hH F20IT—T
55| KE & E | 54 [BXR)IIR|IIFTH F20IT—T
356|H.LE & 5 | 54 | KRS | RAH F20IT—T




L —XNo. K& MRl | Fin | BPENE| FPT | RAALADI-T
357 |ik0O FRE 5 | 54 |BANR |8aEh | £20I-7
358 |M.LE F& 5 | 54 |RRE X F2OIT -7
359 |y A B | 54 |EER KR F2OIT -7
360| B fB— 5 | 55 |BXE |'IEm F2OIT -7
361 |)lim M 5 | 55 [FRE |BH§ih F2OIT -7
362 |ty FX 5 | 55 |BAR |8hEh | $£20I-7
363|188 RFE 5 | 55 |BAR |8hEh | £20I-7
364 |9H & 5 | 55 |BAR |8hEh | £20I-7
365 |5 AREE 5 | 55 |RRE &)X F2OIT -7
366|6IR & 5 | 55 |RRE  |1)IIh F2OIT -7
367 |58 &8 5 | 55 |RRE|REX F2OIT -7
368t FX 5 | 55 |=8BR |2M F2OIT -7
369|WH H % | 55 |BXE |[@ish F2OIT -7
370|188 S % | 55 [BEE |BRh F2OIT-7
3713 Ei® % | 55 |BXE |[@ish F2OIT -7
372|WF E— 5 | 55 [BRE |8aEh | £20I-7
37315 Fib 5 | 55 |BXE |BERM F20I—T
S74|HB Z|E 5 | 55 | KBRS | SPmh F20I—T
S75|MmB R % |55 |EBR |FEm F20I—T
376|8MW Liz 5 | 55 |BXE |BERM F20I—T
377 |dLBIAT 5 | 56 |BXE |ZE F20I—T
378|868l @ $ | 56 |BXE |SEh F20I—T
379|BE £& £ | 56 |ZWB |oesen®| $£20IT—7
380|W0O E88 $ |56 |=88 |FBh F20I—T
381 [)VE =85 5 | 56 |BEEE |[LEem F20I—T
382|HE B 5 | 56 B8 |8aEh | £20I-7
383 |E1R REA % |56 |EEBR |MFh F20I—T
384 |=H [EH 5 | 56 | B E |—8m F20I—T
385| X% @— 5 | 56 [#R)IB|8ESH | 20T T
386 | AP & % |56 |EEBE |#MFEh F20I—T
387|WENZEL HANS| % | 57 |[EXE |BRM F20I—T
388|SH 83A 5 | 57 |BXE |REBH F20I—T
389|586 IEH8 5 |57 |FRE |##ysh | £20I1-7
390|HIR EiF 5 | 57 |BXE |B:Em F20IT—T
391 | 6K B B |57 [18F8 [FARM F20IT—T
392| R 1= % | 57 |RRE |l F20IT—T
SO3| &M £ $ | 57 [IKEE |EBRmh F20IT—T
394 |EEil 2 5 | 58 |[BXE |8aEh | £20I-—J
395 |12 XE E | 58 |IX8E |SBRM | £20I -7
396 | il —is 5 | 58 | KBRfF |F0SRTH F20IT—T
397 |BRE X % | 58 [BME B F20IT—T
398|#H 5= % | 58 [#BX)II8 |#Emh F20IT—T
399 | P F— % | 58 |RRE |EHiIh F2OIT—T
400 %8 )¢5 5 | 58 |BXE |SHBm F20IT—T
401 | .E IERY 5 | 58 |BXE |FREBh F20IT—T
402 |NE EE 5 | 58 |RRE | FBEX F2OIT—T




L —XNo. KZ MRl | Fin | BPENE| FPT | RAALADI-=T
403 [ LA FOEE 5 | 58 |BXE |5&Eh F2OIT -7
404 /MW =k 5 | 58 [#F)II8|#ETh F2OIT -7
405 A1 JT 5 | 58 | KBRfS | F2OIT -7
406 KR = 5 | 99 |BANE |HFEM F2OIT -7
407 [1\E R B [ 59 =B8R [&%h F2OIT-7
408 [#5AK B 5 |59 [BME |Ef=m | £20I1-7
409|& XK BE 5 |99 |BANR |8hEh | £20I-7
410|=F i 5 | 99 |BAME | -8 F2OIT -7
411 [ Bt 5 | 59 |s#EE | FEm F2OIT -7
412[1£5¢ 529 5 | 59 | KBRS | KB F2OIT -7
413[B0 1518 5 | 599 |BXE |[@ish F2OIT -7
414 (SN B % |59 [HEE | K=2h F2OIT -7
415|1bl5 B85 % | 59 [#R)II8 |mEmh F2OIT-7
416 1L HEsh % |59 |EBR |#A=m F2OIT -7
417 | WhIR B8 5 |99 |BANR |8hEh | £20I-7
418|WLB 88 5 |60 [BEXE |t8aE | £2O0I—-7
419585 1EX 5 | 60 |BXE |SEh F20I—T
A20[ERAK B— 5 | 60 |s#EE  |FEmh F20I—T
421 ||RE 85 5 | 60 |F#EE  |Bm F20I—T
422 [784] 5A 5 | 60 |R)IB|@wEsh | $2OI -7
423l £ 5 | 60 [FxR# |HHEX | £2OI -7
424 [ BH E13 8 |60 |=88 |E¥h F20I—T
425|F8 HE $ | 61 |RRE | ZED F20I—T
426578 iR 5 | 61 |RRE |ElX F20I—T
427|=H —BB 5 | 61 |BEE |PURMm F20I—T
428 | =17 e $ | 61 [BXR/IIE|IFH F20I—T
429|8 BEA 5 | 62 | KR | SPmh F20I—T
430188 K— 5 | 62 |#EE  |gEm F20I—T
431 [=2lF R 8 |62 |[¥EE KR F20I—T
432 IR 1E35A $ |62 |EB8 |Elsh F20I—T
43352 IFH 5 | 63 |BXE |SEh F20I—T
434 [HH 65 5 | 63 |B#EE |§Lm F20I—T
435 KK 5 | 64 [FRE |HHEX | 20T T
436|™HHB =8 5 | 64 | KR |/ \EBmh F20IT—T
437 [IHF BX 5 | 64 |RRE|REX F20IT—T
438|75H Ml $ |64 [BHE |t F20IT—T
439 |6 E $ 164 |BEEE |[#MFEh F20IT—T
440[=W FRIE 5 | 65 |BXE |[ismh F20IT—T
441 [ EHE B 5 | 66 |BXE |FmEm F20IT—T
442 |5 & 8 | 67 | KR | BT F20IT—T
443 (a8 BX $ | 67 |RRE |l F20IT—T
444 (S8 EE |67 |=88 |EFhH F20IT—T
445|139 B5HE B |67 |=8B8 |2h F20IT—T
446 |z 83 |67 [BHE |t $2OIT—T
447 | BF KEkE % |69 [IKEE |sWh F20IT—T
448|[@A IEX $ | 69 [BX)II8|Eh F2OIT—T




L —XNo. KZ MRl | Fin | BPENE| FPT | RAALADI-=T
449 (580 jiw 5 | 69 |BXNE |FmED F2OIT -7
450 [#E W B | 72 |RRE_ |58hH F2OIT -7
451|518 B 5 | 76 |BXE |S8h F2OIT -7
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No. K& MRl | Fin | BPENE| FPT | RA1ADI-=T
*452|Fi8 BF ¥ | 36 | KBRS |PIE™ F2OIT -7
w453 | Pk i L | 45 |BRE |SE8h F2OIT -7
#4554 S LF Z | 45 |B#EE  |§Lm F2OIT -7
#4585 K2 ER ¥ | 45 [BR)IIR|IIFTH F2OIT -7
%456 |)J5 N0 L | 37 |BANE |BERM F2OIT -7
#wA4AST|PW LIFH Z | 51 [IRBE |IREm F2OIT-7
w458 |k EE L | 32 |BANR |8hEh | £20I-7

459 KR &E L | 26 |RRAS | KB F20I—T

460|PIS XI5 Z | 31 |BXHE |SE/h F20I—T

461 [P)I| BERF ¥ | 33 [RRE |BEX F20I—T

462 | 1% BiBX% ¥ | 35 [BBME |)AEih F20I—T

463K BEF ¥ | 35 [IRBE |IREmH F20I—T

464 B0 KB L | 36 |RRE | PRX F20I—T

465(1E B F L | 36 |RRE | =R F20I—T

466 |18%F 2T L | 36 | BRI |REBH F20I—T

467 (8 BX Z | 37 |BIBE |&EH F20I—T

468 AHB g0 ¥ | 38 [IxEE TR F2OIT-7

469 | B dhfc Z |41 | KRG | PREH | 20T -7

470[\R T8 Z | 41 |BRE |BERM F20I—T

4711648 B L | 42 | KBRS |/ F20I—T

472[F BFF Z | 42 |BANE |g8aEh | £20I-7

473 (AR EF L | 43 |BRE | ZWEh F20I—T

474 [IE BRI L |44 |EBE |MPh F20I—T

475[RIB =& L |44 |LER |L&h F20I—T

476|BX RF L | 44 | KBRS | KB F20I—T

477 |KH BEFE L | 45 |BEBEE |[#MFET F20IT—T

4 78| RB RF L | 46 |BRE | KEh F20IT—T

47925 et L | 46 |BRE |SEh F20IT—T

480(N Efc L |46 =88 |k F20IT—T

481 [R— £F 2 | 46 | KBRS | RBR™ F20IT—T

4824 KE Z |47 |BANE |HKRUs | £2DIT-T

483 KB KF Z |47 |BANE |HKUih | £2DIT-T

484 [RBM BXTF L | A7 |RRE | PRX F20IT—T

485(1H# EF L |47 |RRE | FBEX F20IT—T

486|868 &F L | 48 |[BHR)IB|BEEH | £20I-T

487 |UE s ¥ | 48 |BSE |RShH F20IT—T

488|EK ME L |48 |BRE |BaEh | £20I-J

489[RBEFT T L |48 | B8 |8aEh | £20I-J




L —XNo. K& MRl | Fin | BPENE| FPT | RAALADI-T
490 A i Z | 49 |BRE |S)h F2OIT -7
491 | B2 BIBF Z | 50 |BXE |BERM F2OIT -7
492 | M EBXE Z |51 |EBR |MPh F2OIT -7
493 [0Fs X L | 51 |REIE | REB F2OIT -7
494 R =& Z |51 |IREE  |PF)h | $£2DI-T
495(HR RF Z |52 |BANR |EBHD | £20I-7
496 (%0 HF L | 53 [REE |SHRH | £2OI-—T
497 [F BEX L | 54 | KRS | KB F2OIT -7
4908 |HB REF L | 57 | KR | S#h F2OIT -7
499K EF L | 58 |=BR |&Em F2OIT -7
500| KRR 5% Z |61 |[BEE |wsih F2OIT -7




